
MEC-005 No. of Printed Pages : 8 

C\.11 
CY) 

CO 
O 

MASTER OF ARTS (ECONOMICS) 

Term-End Examination 

June, 2012 

MEC-005 : INDIAN ECONOMIC POLICY 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer the questions as per instructions given for each 
section 

SECTION - A 

(Long Artiver Questions) 

Answer any two questions from this section in 
about 700 words each : 	 2x20=40  

1. " The overall performance of public sector 

enterprises (PSEs) in India has been a mixed bag." 

Substantiate the above statement. 

2. Discuss briefly the foreign investment policy in 

India in the post-reforms period i.e.1991 

on words India ? Also examine the response of 

foreign capital to these policy changes. 

3. Explain how income-inequality, poverty and 

unemployment are inter-related ? What measures 

have been taken by the government to tackle the 
problem of poverty in India ? 
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4. What do you mean by 'second generation 
reforms' ? What should be their objectives ? 
Outline the measures that need be adopted as part 
of second generation reforms. 
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SECTION - B 

(Medium Answer Question) 

Answer any five questions from this section in 

about 400 words each : 	 3x12=60 

5. "The black economy is among the major factors 

for the ineffectiveness of many of our economic 

policies". Elaborate. 

6. What do you mean by E-Governance ? Examine 

the components of an efficient E-governance 

inftrastructure. 

7. What is social security ? List the various measures 

for social security adopted by the government of 
India . 

8. What are the principles of fiscal federalism ? How 

does finance commission follow these principles 

in its recommendations ? 

9. "Declining share of agriculture in GDP has not 

been accompanied by commensurate decline in 

workforce in agriculture". Comment. 

10. Explain how does inadequate availability of 

infrastructure retard economic growth ? Suggest 

measures to raise infrastructure in the economy. 
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11. "Conduct of monetary policy in India has 
undergone a sea change following reforms in the 
financial sector. Apart from changes in objectives 
and targets, there has been a gradual shift from 
direct instruments to indirect instruments". 
Examine the statement . 

12. State the importance of capability poverty index. 
How does it differ from human development 
index ? 

13. " While corporate management is becoming 
increasingly systematised and is scaling new and 
newer heights, the issues governing the 
management of agriculture have continued to 
persist " Examine these issues. 
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